
- o +O-0+02-otO-0

= o -0 -0-O #OtO+8#

= (- 1-- -1-1) O +D1 +1D02
= -40 + 302



(f7B23) +0 (253)" + (B12.118
= (4Pp2:3) + (2253

:10 + (B12. 38)
= ( - 34 + (2p3) + (B!*)
= (1996: + 21038 + 1 - 1912418
=

- 130 + 102430 + 1130
= 1 - 1 + 1024 +1)138
= 1024330



I +2] -37 -872+95+ 0]Y-3+6]=28+sy23-

-- -
- --

=

I +2]-7]-207 -8146321532932-3- 23+1014
=(1+2-3-20)]+1-8+6 +5)j2+ /9-3 -12)]+ 1074
= -20y + 332

+ 1- 613 +1034
= -20 + 332 - 673+1084



( 2)"x= (-3)**#1 -2x-3x=)-2)x

= 18x3 - qx+ -8)=9x= /ex

= 16x2 -9x -8x- 9x3 + 2x

= (16 - 9 -8 -9 +2) x3

=

- 8yY


